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1 = goo E 1,500,000
2 = goo E 700,000
T3 = ooo E 350,000
T3 = ooo E 350,000
T5 ("] ooo E 260,000
T5 ("] ooo E 260,000
7 = goo E 200,000
T8 ("] ooo E 142,000
T8 ("] ooo E 142,000
T8 ("] ooo E 142,000
T8 ("] ooo E 142,000
T8 ("] ooo E 142,000
T13 = ooo E 98,000
T13 = ooo E 98,000
T13 = ooo E 98,000
T13 = ooo E 98,000
17 = ooogs2 E 84,000
T18 = ooo E 78,000
T18 = ooo E 78,000
T18 = ooo E 78,000
T21 = goo E 72,466
T21 = goo E 72,466
T21 = 00 E 72,466
T24 = ooo E 66,333
T24 = ooo E 66,333
T24 = ooo E 66,333
T24 = ooo E 66,333
T24 = oo E 66,333
T24 = ooo E 66,333
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61,000
55,062
55,062
55,062
55,062
55,062
55,062
55,062
55,062
44,714
44,714
44,714
44,714
44,714
44,714
44,714
40,000
35,300
35,300
35,300
35,300
35,300
28,600
28,600
28,600
28,600
28,600
24,500
23,100
22,000

20,000

2/2


http://www.tcpdf.org

